Numeracy assessment answers
	Question
	Marks
	Answers

	1
	1
1

1
1
	two thousand, seven hundred and twenty-one
two million, three hundred and seventy thousand, eight hundred and four
9, 115
17.54

	2
	1
1
	7 tens 
7 thousand(s)

	3
	1
1
1
	256; 305; 356; 360; 365; 3,506
0.27; 2.07; 2.7; 7.02; 7.2; 27.2
-12; -9; -3; 0; 2; 12

	4
	1
1

1
	14; 17; 20    add 3 or +3  or plus 3 or count on 3
11; 7; 3        take away 4 or minus 4 or subtract 4 or -4 or go back 4
0; 10; 20      add 10 or +10 or plus 10 or count on/up 10

	5
	1
1
1
1
	370
3,800
5,000
12.5

	6
	2
2
2
2
	320    3200
175    1750
80    8
3.5    0.35

	7
	1
1
	1/3 
24 

	8
	1
	91

	9
	1
	£15 : £20 

	10
	1
1
1
1
1
1
	Cuboid
Cylinder
Pentagon
Hexagon
Trapezium
Parallelogram 

	11
	1
1
	(2, 4)
Correctly plotted.

	12
	1
1
	20    +/- 2
2       +/- 2

	13
	1
1
	4:50 or 10 to 5 
6:20 or 20 past 6 

	14
	1
	9 students
12 Students

	15
	2
2
2
2
2
	[bookmark: _GoBack]18                    7 
170                 54102
14.4                390
632                 574
£40.65            £2.43

	                  51 Marks available





